Tableaux des Puissances de Dix (I)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

10 000 100 10 1000

59

82

94

58

10 100 10 000 1 000

82

28

97

74

90

10 1000 10 000 100

95

94

40

49

80

10 100 1000 10 000

79

46

71

33

28
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Tableaux des Puissances de Dix (I) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 10 000 100 10 1 000
9 90 000 900 90 9000
59 590 000 5900 590 59 000
82 820 000 8 200 820 82 000
94 940 000 9400 940 94 000
58 580 000 5800 580 58 000
X 10 100 10 000 1000
82 820 8 200 820 000 82 000
28 280 2 800 280000 28 000
97 970 9700 970 000 97 000
74 740 7 400 740 000 74 000
90 900 9000 900 000 90 000
+ 10 1000 10 000 100

95 9,5 0,095 0,0095 0,95

94 9,4 0,094 0,0094 0,94

40 4 0,04 0,004 0,4

49 4,9 0,049 0,0049 0,49

80 8 0,08 0,008 0,8

+ 10 100 1000 10 000
79 7,9 0,79 0,079 0,0079
46 4,6 0,46 0,046 0,0046
71 7,1 0,71 0,071 0,0071
33 3,3 0,33 0,033 0,0033
28 2,8 0,28 0,028 0,0028
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